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0 1,267 0.78

0 61,088 37.44

0 51,288 31.44

0 34,002 20.84

0 15,500 9.50

0 163,145 100.00
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51,288 51,288
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34,002 34,002
34,002 34,002
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15,500 15,500
15,500 15,500
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1,267 1,267
30,864 30,864
30,224 30,224
51,288 51,288
34,002 34,002
15,500 15,500
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163,145 0 163,145 62,355 15,500 85,290
163,145 0 163,145 62,355 15,500 85,290
163,145 0 163,145 62,355 15,500 85,290
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2 10,229
3 7,528
4 5,516
7 11,560
9 1,325

11 20

13 46,094

14 78

15 79,596

18 1,099

19 100
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738
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1,030
2,570
1,829
329
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3,887
3,887

141,501

1,629
1,567
62

11,560
10,183
1,377

1,325
1,325

20
20

46,094
38,707
2,040
3,594
1,400
353

78
78

79,596
30,864
48,732

1,099
1,099

100
100
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(1) #ats
. i 5. % . .
y=! = =3 AN =
s | R T H | WATS = Sk 5 @ -
(N) (+mM) (+mM) (+mM) (FM) (FM) (FM)
AR AR B 3 10,229 6,868 17,097 3,887 20,984
Al A
J= Ay 3 10,229 6,868 17,097 3,887 20,984
T B | WY (eS| Wk | g | sk | (EE
= =~ FY | PY | HE | PY | PYE | PY | By | Y
H X 43
Ea FY
N4 T F)| FM| FHE| FB TR FR)] ()
DIk # 738 48[ 1,030 2,570] 1,829 329 324
z;ﬁﬁ O
. th if& 738 48 1,030 2,570 1,829 329 324
(2) Fekk M OV B T 24 O HE IR D Bl
HAJRE HE Ok B BN R N
YAN z E
x5 (Fm) (Fm) L e
Fok 10,229|#8 5- e\ D BE Iy 28|48 5 E Iz LA
SRR ITPESEN 5y 188| F-fa iz LBy
Ha G- IRRNZ RS IREE ) A 1388 HRikE LA TR
Z DD HSY 10,151 |k B o0 BB I C L5 |TE O Rahki
AAEE 3 A
AT A
HEI 3 A
B IBEREZE ORI
H#h 3A
kB Y 6,868 | il B i E VT RED HE IR 4y 57|38 5tk E Iz LA WRFY 7
B TY 50
WHEEEOE TR 458 GIREEDOE LI |[HIk Ty 75
HEKASY HEKE Y B T4 54
it 24 329
OO RSy 6,353| F48 1z kAR T 738
BEORES LA BTy 43
FUMMEOE T LA (FFEA EE F2Y 1,030
HIERTY 2,488
B TY 1,725
EETFY 324
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(3) AL O B T4 ORI

7 B IASEGE

ES 5y — AT BO:
SR e kA ()
FRSUELALR |56 5 A %8 (1)
BAE|E ¥ F i (%)
G R A (M)
ERSOFELALHE |PEH4E 5 A &)
BUTE|E B 4 i (%)
A PItERE
o ] oDl B
AN 177
S 53 AT B (F) B ()
m R 148,600 148,600
K ¥ % 180,700 180,700
AR GULEISE S _ _
— AT U Sl
£ @ i3St ki dnd=d @ i3St d ki dnd=d
A) | (%) A) | (%)
7 7
6 6
I,Z
% 5 5
31
A
1 3 3
A
i)
s 2 2
1 1
G G
7 7
6 6
I,Z
% 5 5
30
A
1 3 3
A
E7)
= 2 2
1 1
7t 7
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X5y 7% 61k 5% A%k 3tk 2% 1%
—ATEO | BRI ZE-HRE AR A R & * A il A - Bl
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54 ~at A2 AR
— ARAT B
ek 5 % A) ON) 3 3
FARNFRDIE B EK (B) ON, 3 3
1575 ON)
295fa ON,
35 fa ON)
ARARSE 4515 ON, 3 3
T FaBUINER
55 fa ON,
675 fa ON,
75 fa ON,
875 fa ON,
t# (B)/(A) (%)|  100.0 100.0
T B % (A) (N)
FASIRDIR B 2K (B) ON,
1546 ON,
275 fa ON,
3fa ON,
RITAR ) A (A)
ARERIR
575G ON,
675 #a ON,
Trka ON,
8 e ON,
g B)(A) (%)
A WIRT4 - i T4
a3k R " e T
S e TV ETTTNN el PRLLOII B2 s
A 2.225 2.225 4.45 el
GUESSE 2.125 2.275 4.40 el
= D | B 2.225 2.225 4.45 el
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71 TEAEIRNE M OVENSE IR AR DBk T 24

B Zoﬁﬁj‘g”j 25@??%? 35@%;;“”,;%; Wﬁ]ﬁfi) romonEEs | e
IkaERE: | 24.586875 | 33.27075 47.709 47.709 (2% ~ 204 IV EE)
il TEAF I A IR AR 15 5 1
(45259 24.586875 | 33.27075 47.709 47.709 (2% ~ 454 IV EE)
X Mgk Ty
S T PN 4k
* el ES (%) 3.0
= fa %t T B (\) 3
[E D FLYEI T H S KGR (%) 6.0
7 ZDOMOFY

X5y [E D] BE & 0 F [F] EERDONE
- ] [Fi] T
EEFY ] T
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EBEITA CEUERE LG ICHh D DIZHOWTORMERE R E TO X AT 1T HEED FRiA T

Ko OV %A BE LU OO S T iE BRI 2B 3 ol i

ATAEEEAR F T (FIA) %

= H [R e %H
™M & KA
R EM EFRAEEE LT 132,332
(R FR) o AL E H # & plk T F 4,277,772FH
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(B iz . F M)
MELAE R LR D 3 H T E A E oo ME AR
R MR
: fi & — T
o 5 AREme | W 5B | 2 oW "
fﬁkg’ggff 132,332F 1| 42,3451 89,987
fﬁgfgg 4,217,772 M| 2,137,994TF| 278,900 | 1,860,878
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